H k& FoHEw ()

One-Sample Inference(1)

2011/10/25

4 3= kvt & Biostatistics

E&m“*Ewﬂmﬁji
SlFEA oL
2011/10/25

AR TRRE A A
Email : amyyen@tmu.edu.tw
1 5152

e e G


mailto:amyyen@tmu.edu.tw

~ AR FAN
T30k i
BRESIEFEATRAD 2L TARH |
(- eI F A ST
ﬁ %F:J_ ;"{ ‘/‘},%l AMEE X RNME D

JLP kA4 e st 6 Bfe (2007) ISBN
0789866929021 » 4, "M A1 EKAL o

2011/10/25 CoiEa Bk 4 2


http://www.jcbooks.com.tw/SearchList.aspx?Type=3&Keyword=%E6%B2%88%E6%98%8E%E4%BE%86

/ 1 y / 21
2 i 3t
L 21
-

X, + X, +

Central Limit Theorem

Standard Error of the
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Bt T_Hypothesis Testing

P-value
95% confidence interval
o-level, 1-f
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= 38 4 pe(Binomial Distribution) s 3+
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P=— Xi=)_( Var(pj:g :pq
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=~ & A 2% (Normal-Theory method)
AR > SEAREABTEEAR VA
fete Tm & B % FP(proportion) s fF fm3h o
(np=>5, p<0.5& p>0.5, n(1-p)>5)
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I 2<Z,,, v z>7Z,..,, then I'EjECt HO

If z,,<z<2,,,, then fail to reject H,

P-value calculation

If p<p,then P—value=20(z) o
p 2 p,then P—value=2x [1 - (D(z)] /
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